=2~ —

ﬁx?l].ll IISIVIII l\l.TIllI\! 2
I LT AT Y




/
01] e=mmnes |

RS EWETILTAF M.
ERAF@mZ A, B FHDEAXUBREN = RHTERNRE . AERAFRAEHEXHOXEREBRREN
BTILTAETE . NBEH BARBTEH. BihEwww.tilta.comBEANGLRBREHN~RER.

—BERATH BMALELFARNZEREFRSES, 2R, NTNEIAFRLBERMNRE . GRE
XEAAmIUAR AT RN ERASEEE. BRBREFELENERATR, HFERABAERRLURTILTA
FIRBEIEREA . BERIES.

TILTAN FEEREZEARTRMIERNRR. GEURETERREFATFRE. ARMEFESEERRT
rXRRNFERSIES.

BERAELIANE, HEENSKAZLEREINMRE, FAZARRFHLM.

TILTARRY I LR AR AR R EXKABNER. AXHAN=RER. @S WHEREABNEREM
AtR.




02

AR — Action 2 1BYiEREML W

i, — e

#DJI Action 2 AR L EKRIES V(T MR 1 RE1” ),
B PRI % LTS EE2 . RERSEME, EEVUNFBIRADHE.
IRERIAFF R B IR T BN BT RIR]

TSRS SIGERL, LLBUATTE
DT SR AEEFERE .
WnBE, REWIFIESEE,

SRR B AR, FTLESIRIR
EEY, GUESEERE, LRSI,

< EE > REDT@2 MR,

#eEn M3, fo4::)

B Type-c&QO 1/48REF B =483 HEHEType-c BOME, FLULNEED0IHE.
B/ RRRE @ a0 B 1/4ehi




03 | iAiR—Action 2 GHTUREREL W

M3ERGLFL
14857,
M3RLF
e/ A R
B 80

@ xa

AL

B 14Ef

#DJI Action 2 EENANFIFAREREMAE A REHD(IRIEtype—cH
BOBERESE, Wi “RE1" , B RA2" ZEREBLEE2. &
TRIIRAE, EEGINFRENIRE DR, FREBHAT + HIBRTRIA .

€€

TREBFIEERERE SRR, ILRUATMRE,
TREBFFHURE, HEINTRIEMIER.
WDNE, REWIFHESTES.

FEMBITMIBLIL,
AREEIEERE.




BMIBLEHEM/VREREHNBBAHOMIBLA LD,
BREVTIRARES EOM3BLERRERARKRREQ),
TR KR EBREAREE R LA,

AR
(38 R A0S JRA, AL ER

E=vzin
[FRES 4
BEARRIKNTBETRE. |




REEE |

HES 21

EIARE

MREFES

S0, AEAREE R, LEHEMRE.

S/ WERREMH4N

REREHRFOLE, BEEC

EIREX
B 2 BB 5 P 2

R

ARUEERVE
M3 IR 22t B




1

06| ZEHRT BKE |

FREEESHRE, TERMR
EREFRL.

HRY REEZEESARERESEHRIEN1/4ELI ENEF KB
BUAEGI, TEMBERR.

SEFCRIRY RIREE, AILULEHEREAE 4 £,
STENMBEFT. (NEEFR)




]
07 iAR——RBIRERY |

TILTAADJI Action 2EHEIRBIRHET SHEFIESHA .
MUCV (f8#7)% F, ND (8,16,32,64) K, CPLURIR)&EH,
BE#HRIRIT, TEERIERBAS, RIEEHEIRE.

. RBAERENRTEMER.

BS =3 FRAR

TI360° HERHH

TA-T26-CPL | CPLURIR) 5 | ACPLEHEATLIHRAEMURRIELNRY,
EEEELS .

ND 8 il

N 583 i, RIS 3
TA-T26-MCUV | MCUVRE) 85 | Liamming. @1RMELRE, FammNE
RPECEEENELONR.

ND 32 A

ND 64 & -

TA-T26-NDS ND(8/16/32/64) AMARMERNDE, AT FRNHRAOAE, MTit/
HAEE BPEKRERHIFE .




/
08 DISCLAIMER AND WARNING |

Thank you for choosing Tilta products. This content has been created in regards to your safety, responsibilities, and legal rights as the customer.
Please carefully read the text prior to using the product to ensure that you fully understand the correct procedures and safety precautions before
use. Tilta technology CO., Ltd.reserves the right to final interpretation of this content and other related information. Potential updates to the product
may occur without prior notice.Please visit www.tilta.com for the latest product information.

Please do not carry out any unauthorized repair to Hydra Alien Car Mounting System or change its mechanical structures.Any unauthorized
operation may cause damage to the product. Tilta technology Co., Ltd will not take responsibility for any damage that was caused by unauthorized
operation.

By using this product, you will be regarded as understanding this disclaimer as well as accepting of all policies and regulations put forth by
Tilta technology Co., Ltd.

Tilta is a registered trademark that belongs to Tilta technology Co., Ltd and its subsidiary company. All product and brand names that are
mentioned in this content belong to Tilta technology Co., Ltd and its subsidiary company.




ug\ SINGLE CAMERA CAGE

p—

I\

EFT SIDE ARM >

< RIGHT SIDE ARM >

Power port
USB-C port
Power/Record

M3 screw hole
114”20 screw hole
Lock

Release button
[ Sirap holder

B 1/47-20 screw hole with
locating point

DEMONSTRATION

Align the |contact points and locating point 1, and place DJI Action 2 camera into the
single camera cage (1.. Align the locating point 2., and mount the top cover 2. Press
the latch and slide the release button @ (shown as in graph 3) to secure the latch. To
disassemble, release the release button and unlock the latch

€€

The buiit-in heat conducive silicone mats on the
top and the bottom guarantee quicker cooling
The power button on the top of the cage provides
easier operation. The hollowed-out side opening
guarantees uninterrupted WIFI signal

/4" ~20 screw holes are located on both the bottom
and right side of the cage, allowing you to mount to
tripods, adjustable mounting brackets, etc. It also
supports direct mounting to a baseplate. Easily switch

riical modes. Reserved M3

screws for mounting GoPro basepiate.

The back has a buit-in USB-C port to allow for an
external power supply for continuous shooting.




e —

10 ‘ DUAL CAMERA CAGE

M3 screw hole

1/4” =20 screw hole
B} M3 screw hole

A Power/Record
Latch

@ Release button

Audio port
1/4” ~20 screw hole

with locating point
<LEFT SIDE ARM > [l <RIGHT SIDE ARM >

EMONSTRATION

Align the USB-C port and locating point 1 , and place DJI Action 2 camera and the front
touchscreen module into the dual camera cage (1. Align the locating point 2., and mount
the top cover 2. Press the latch and slide the release button @ (as shown in graph 3) to
secure the latch. To disassemble, release the release button and unlock the latch

ETAILS

€€

N The built-in heat conducive silicone mats on the top and
the bottom guarantee quicker cooling. The power button on
the top of the cage provides easier operation. The hollowed:
out side opening guarantees uninterrupted WIFI signal

The comers have 4 buit-in M3 screw
holes for mounting shock absorbing
frame.

[BOTTOM]




11 ‘ SHOCK ABSORBING FRAME DEMONSTRATION

* °
<O
o
o]
o
0
o
o
o
<O|
o
®
| X
B == @®
< TOP>
T
B =@
< RIGHT SIDE ARM >
hock Ba8ag -ating points
[Reduces [The buit-in m

vert
shooting modes, and support nstaling accessories such as
an addional LED lght]

Insert the M3 screws into the M3 screw holes (1) on the four corners of the
dual camera cage (or shock absorbing camera cage). Push all M3 screws
into the shock absorbing pads 2. Double check the security after the

installation.




Iz‘ SHOCK ABSORBING FRAME SOFT CLAMPS U

use the shock absorbing

speed driving conditions,

To shoot under high

frame soft clamps to secure the camera cage.

Attach the soft clamps (1) onto the shock absorbing pads. Push and thread the four M3 screws

into the shock absorbing pads on the 2/ shock absorbing frame kit.

\\\onOoQoOo




/
13]MAGNETIC BASERLATE |

The baseplate has a built-in
magnet for eaiser installation.

WORKING WITH DJI ACTION MAGNET ADAPTER

The magnetic baseplate can be installed under the single or dual camera cage.
There are screw holes on the side and the bottom to support horizontal and vertical modes.
After the magnetic baseplate is installed , the cage can be assembled to DJI magnetic kit and
magnetic adapter, to achieve angle adjustment. (See picture on the right.)




4 FILTERS

Tilta has provided multiple filter options for DJI Action 2’s camera screen:
MCUV protective filter, ND (8,16,32,64) filter, CPL filter. With built-=in magnet,
the filters can be mounted directly onto the screen. Quick and easy installation.

NOTE: The filters cannot be stacked.

ND 32 filter

SKU PRODUCT PRODUCT
NAME USAGE
360° rotating polarizer filter. Use the CPL filter to
TA-T26-CPL CPL filter remove glare from water and glass surfaces. Significantly
improves image.
Provides protection for the screen. Protect the lens from dust and sand
TA-T26-MCUV | MCUV filter under outdoor and high speed driving conditions. The advanced coating
helps avoid ghosting image.
e ND(8/16/32/64) 4 levels of ND filters for different shooting senarios, such as skydiving,
TAZT26-NDS | fijer set scuba-diving, efc.

ND 64 filter




(SIEISTIS TS /ﬁ/
CEl OO S X

TILTA FOR DJIl ACTION 2



